BT TRIA O - HEHHEE X T ﬂ?’ﬁkﬁzﬁnﬁsﬁﬁﬁ
- I:I - 3 I:I
X 72,949 158,797 75,873 82,924 |[REFILETAT 740 1,876 881 995
E 4613 9,990 4,628 5,362
BEKET1T 874 1,884 912 972 |IREFZH2T 1,424 3,268 1,565 1,703
BEKET2T 332 799 382 417 5 1,424 3,268 1,565 1,703
B 1,206 2,683 1,294 1,389 |[R=E~ EB1T 69 196 86 110
< FE] BT 8,658 20,947 9982 10965 [R=E~ER2T 265 545 261 284
Lt RER1T 356 563 280 283 |R=E~ERI3T 447 1,008 490 518
Tt RERT2T 236 437 207 230 |R=E~ER/T4T 201 386 178 208
Lt RER3T 277 497 265 232 |R=E~ERI5T 351 653 345 308
Lt RERT4T 171 308 154 154 5| 1,333 2,788 1,360 1,428
Lt RERST 140 289 143 146 | KZIFAT1T 748 1,663 783 880
Tt ERERGT 94 229 110 119 | KEZFET2T 894 1,917 929 988
TtERER7T 73 164 75 89 S| 1642 3,580 1,712 1,868
Tt ERERST 122 212 107 105 |EARERTT 75 186 83 103
g 1,469 2,699 1,341 1,358 (A RERT2T 154 345 171 174
tfEBET1T 231 490 234 256 (B RER3T 352 753 321 432
tfEBET2T 1,158 2,547 1,193 1,354 |FARERT4T 284 493 191 302
tfEBET3T 948 1,801 897 904 (BB RERIST 140 307 144 163
tfEBET4T 895 2,038 1,013 1,025 | 1,005 2,084 910 1,174
g 3,232 6,876 3,337 3,539 |F{E AT 2,128 4,880 2,389 2,491
ERATET1T 632 1,581 794 787 | & AHT 254 485 241 244
ERATET2T 348 825 391 434 |BEEERMET1T 254 485 223 262
ERATETST 358 845 401 444 |BEEFRMET2T 466 961 472 489
g 1,338 3,251 1,586 1,665 (B E S HRIMATST 694 1,526 721 805
==Yl 1,012 2,185 1,046 1,139 (B EERMET4T 612 1,255 630 625
HEWEET 254 513 233 280 |BEE ERMETST 698 1,636 782 854
HERE2T 390 691 306 385 | 2724 5,863 2,828 3,035
HEWREIIT 267 477 247 230 |BEEMBILAT1T 228 393 176 217
HEWE4AT 137 297 136 161 |BEEEHBILAT2T 431 896 432 464
B 1,048 1,978 922 1,056 |B & BH#EILET3T 524 1,089 522 567
HEREET 1,651 3,243 1,464 1,779 | B#EILET4T 584 1,267 610 657
HEREET2T 3,050 6,530 3,133 3,397 |BEEBILATST 741 1,729 844 885
HEFETST 3,022 5,984 2,697 3,287 B 2,508 5,374 2,584 2,790
HEFETAT 2,214 4,294 1,915 2,379 |EEBHEET1T 1,020 1,962 946 1,016
HEREEIST 1,271 2,723 1,318 1,405 (B BiBHT2T 147 314 163 151
5| 11,208 22,774 10527 12247 |BEE#EEI3T 2,145 4,500 2,183 2,317
HUEET1T 789 2,183 1,061 1,122 B 3,312 6,776 3,292 3,484
HYERT2T 528 1,322 654 668 |BEETZET1T 632 1,409 660 749
g 1,317 3,505 1,715 1,790 (B EBHEZET2T 483 1,038 495 543
MEET 446 993 492 501 |BEERZAT3T 309 751 361 390
EET2T 317 783 379 404 B 1,424 3,198 1,516 1,682
g 763 1,776 871 905 |BEEEARET1TT 656 1,324 659 665
WHAEET1T 720 1,876 897 979 |BEEEARET2T 244 590 288 302
WHEEET2T 207 472 228 244 |BEEEARETST 1,018 2,708 1,313 1,395
RT3 T 713 1,549 775 774 B 1,918 4,622 2,260 2,362
g 1,640 3,897 1,900 1,997 (BEEEREET1T 307 675 330 345
RKEIRAT 5518 12,388 5,986 6,402 |BE BMEmMAET2T 226 479 243 236
hRERTT 273 545 251 294 |BEE EEBRET3T 598 1,306 646 660
hRER2T 204 371 165 206 g 1,131 2,460 1,219 1,241
hRERST 226 501 246 255 |J\TFdt 101 212 101 111
hRERT4T 277 529 256 273
B 980 1,946 918 1,028
o A BT 586 1,242 604 638
hEEEET1T 576 1,233 581 652
hEEEET2T 788 1,348 630 718
hEEEETST 456 1,134 539 595
hEEEET4T 695 1,394 699 695
hEEEEST 843 1,698 822 876
hEEEET6T 3,271 6,271 2,996 3,275
5| 6,629 13,078 6,267 6,811
P =T 828 1,992 972 1,020
BAFBILETTT 1,067 2,219 1,055 1,164
BXEFILET2T 980 2,254 1,120 1,134
BEAEFILAIST 1,826 3,641 1572 2,069
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